

Some New Transformation Formulas for q -Series through the Bailey Transform

Lijun Hao, Liangliang Xu

School of Science, Zhejiang Sci-Tech University, Hangzhou, China

Email: haolijun152@163.com, liangliang__xu@163.com

How to cite this paper: Hao, L.J. and Xu, L.L. (2023) Some New Transformation Formulas for q -Series through the Bailey Transform. *Advances in Pure Mathematics*, 13, 651-661.

<https://doi.org/10.4236/apm.2023.1310045>

Received: September 6, 2023

Accepted: October 15, 2023

Published: October 18, 2023

Copyright © 2023 by author(s) and Scientific Research Publishing Inc.

This work is licensed under the Creative Commons Attribution International License (CC BY 4.0).

<http://creativecommons.org/licenses/by/4.0/>



Open Access

Abstract

In the literature, the Bailey transform has many applications in basic hypergeometric series. In this paper, we derive many new transformation formulas for q -series by means of the Bailey transform. Meanwhile, We also obtain some new terminated identities. Furthermore, we establish a companion identity to the Rogers-Ramanujan identity labelled by number (23) on Slater's list.

Keywords

q -Series, Bailey Transform, Transformation Formulas, Rogers-Ramanujan Identities

1. Introduction

Throughout this paper, a, x and q are complex number with $|q| < 1$. Here and in what follows, we adopt the standard q -series notation [1]. For any positive integer n ,

$$(a; q)_0 := 1, \quad (a; q)_n := \prod_{k=0}^{n-1} (1 - aq^k), \quad (a; q)_\infty := \prod_{k=0}^{\infty} (1 - aq^k),$$

$$(a_1, a_2, a_3, \dots, a_m; q)_n := (a_1; q)_n (a_2; q)_n (a_3; q)_n \cdots (a_m; q)_n,$$

$$(a_1, a_2, a_3, \dots, a_m; q)_\infty := (a_1; q)_\infty (a_2; q)_\infty (a_3; q)_\infty \cdots (a_m; q)_\infty.$$

For convenience, we use $(a)_n$ to denote $(a; q)_n$. We will often use basic properties without reference, such as

$$(a; q)_{n+k} = (a; q)_n (aq^n; q)_k, \quad (a; q)_\infty = (a; q)_n (aq^n; q)_\infty.$$

The q -binomial coefficient is given for any nonnegative integers M and N by

$$\begin{bmatrix} N \\ M \end{bmatrix}_q := \begin{bmatrix} N \\ M \end{bmatrix} = \begin{cases} \frac{(q; q)_N}{(q; q)_M (q; q)_{N-M}}, & \text{if } N \geq M, \\ 0, & \text{otherwise.} \end{cases}$$

Following Gasper and Rahman [1], the bilateral basic hypergeometric series is defined by

$${}_r\psi_s \left[\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_s \end{matrix}; q, z \right] = \sum_{n=-\infty}^{\infty} \frac{(a_1, a_2, \dots, a_r; q)_n}{(b_1, b_2, \dots, b_s; q)_n} \left\{ (-1)^n q^{\binom{n}{2}} \right\}^{s-r} z^n,$$

and the unilateral basic hypergeometric series is defined by

$${}_r\phi_s \left[\begin{matrix} a_1, a_2, \dots, a_r \\ b_1, b_2, \dots, b_s \end{matrix}; q, z \right] = \sum_{n=0}^{\infty} \frac{(a_1, a_2, \dots, a_r; q)_n}{(q, b_1, b_2, \dots, b_s; q)_n} \left\{ (-1)^n q^{\binom{n}{2}} \right\}^{1+s-r} z^n.$$

The Ramanujan’s ${}_1\psi_1$ sum ([1], Appendix (II. 29)), and the sum of a ${}_1\phi_1$ series, ([1], Appendix (II.5)) are stated as follows.

$${}_1\psi_1 \left[\begin{matrix} a \\ b \end{matrix}; q, z \right] = \frac{(q, b/a, az, q/az; q)_{\infty}}{(b, q/a, z, b/az; q)_{\infty}}, \tag{1.1}$$

$${}_1\phi_1 \left[\begin{matrix} a \\ c \end{matrix}; q, \frac{c}{a} \right] = \frac{(c/a; q)_{\infty}}{(c; q)_{\infty}}. \tag{1.2}$$

Among the other formulas needed for this paper, we have separately documented the q -binomial formula and its consequence ([1] (1.3.2)) in the sequel,

$$\sum_{n \geq 0} \frac{(a; q)_n}{(q; q)_n} x^n = \frac{(ax; q)_{\infty}}{(x; q)_{\infty}}. \tag{1.3}$$

Setting $q \rightarrow q^2, a \rightarrow \infty, x \rightarrow xq/a$ in (1.3), we have

$$\sum_{n \geq 0} \frac{(-1)^n q^{n^2} x^n}{(q^2; q^2)_n} = (xq; q^2)_{\infty}. \tag{1.4}$$

Furthermore, Euler’s formulas (cf. [1], Corollary 2.2)

$$\sum_{n \geq 0} \frac{q^{\binom{n}{2}} x^n}{(q; q)_n} = (-x, q)_{\infty} \quad \text{and} \quad \sum_{n \geq 0} \frac{x^n}{(q; q)_n} = \frac{1}{(x, q)_{\infty}}. \tag{1.5}$$

Cauchy’s identity (cf. [2], Theorem 3.3)

$$(x; q)_n = \sum_{k=0}^n (-1)^k q^{\binom{k}{2}} \begin{bmatrix} n \\ k \end{bmatrix} x^k, \tag{1.6}$$

and the formula ([1], Exercise 1.16) which is a special case of the Bailey-Daum sum ([1], (1.8.1))

$$\sum_{n \geq 0} \frac{(x; q)_n q^{\binom{n+1}{2}}}{(q; q)_n} = (-q; q)_{\infty} (xq; q^2)_{\infty}. \tag{1.7}$$

Besides, if $a \neq 0, 1 - bq^n \neq 0$, the following identity was given by Ramanujan

[3],

$$\sum_{n \geq 0} \frac{(-b/a; q)_n a^n q^{n(n+1)/2}}{(q; q)_n (bq; q)_n} = \frac{(-aq; q)_\infty}{(bq; q)_\infty}. \quad (1.8)$$

A pair of sequences (α_n, β_n) is called a Bailey pair relative to a if

$$\beta_n = \sum_{r=0}^n \frac{\alpha_r}{(q; q)_{n-r} (aq; q)_{n+r}}. \quad (1.9)$$

And a conjugate Bailey pair relative to a is a pair of sequences (δ_n, γ_n) satisfying

$$\gamma_n = \sum_{k=n}^{\infty} \frac{\delta_k}{(q; q)_{k-n} (aq; q)_{k+n}}. \quad (1.10)$$

In fact, the Bailey pair and the conjugate Bailey pair are the special cases of the following Bailey transform.

Lemma 1.1 ([4]). *Let n be a nonnegative integer and $\{A_n\}_{n=0}^{\infty}, \{B_n\}_{n=0}^{\infty}, \{C_n\}_{n=0}^{\infty}, \{D_n\}_{n=0}^{\infty}$ be sequences of complex numbers. Assuming convergence of the series, if*

$$B_n = \sum_{j=0}^n A_j U_{n-j} V_{n+j} \quad \text{and} \quad C_n = \sum_{j=n}^{\infty} D_j U_{j-n} V_{j+n}, \quad (1.11)$$

then

$$\sum_{n=0}^{\infty} A_n C_n = \sum_{n=0}^{\infty} B_n D_n.$$

This terminology was first proposed by Slater [5]. Bailey transform is widely used in mathematics for a long time, especially, in the area of basic hypergeometric series. For example, Andrews [6], Kim and Lovejoy [7], and Lovejoy [8] established multiple sums Rogers-Ramanujan type identities and partial theta identities. Andrews and Warnaar [9] applied the Bailey transform to give another proof of false theta functions. Bailey [4] [10], Bressoud [2], and Slater [11] [12] used this transform to derive a number of identities of Rogers-Ramanujan type identities. Ji and Zhao [13] established the Hecke-Rogers identities for the universal mock theta functions by means of the Bailey transform.

Notice that if we take

$$U_n = \frac{1}{(q; q)_n}, V_n = \frac{1}{(aq; q)_n}$$

in lemma 1.1, the pair of sequences (A_n, B_n) is a Bailey pair relative to a , and the pair of sequences (C_n, D_n) is a conjugate Bailey pair relative to a .

The main motivation for this work came from some Bailey's transform of M. E. Bachraoui which appear in [14], specifically the (V_n) is the constant sequences with value 1. Applying the ([14], Theorem 3, 4, 6) and choosing appropriate D_n , we establish some new transformation formulas for q -series.

2. Main Results

Theorem 2.1. *We have*

$$\left(aq^{\frac{1}{2}}; q\right)_{\infty} \sum_{n \geq 0} \frac{\left(aq^{\frac{1}{2}}\right)^n (1-q^n)(x; q)_n}{(q; q)_n^2} = \sum_{n \geq 0} \frac{(-1)^n (ax)^n q^{\frac{n^2}{2}} (1-q^n)(x^{-1}; q)_n}{(q; q)_n^2}. \tag{2.1}$$

Corollary 2.2. *There holds*

$$\frac{x^n (1-q^n)(x^{-1}; q)_n}{(q; q)_n} = \sum_{k=0}^n \frac{(-1)^k q^{\binom{k+1}{2}-nk} (1-q^k)(x; q)_k}{(q; q)_k} \begin{bmatrix} n \\ k \end{bmatrix}, \tag{2.2}$$

$$(q; q)_{\infty} \sum_{n \geq 1} \frac{q^n (-q; q)_{n-1}}{(q; q)_n (q; q)_{n-1}} = \sum_{n \geq 1} \frac{q^{\binom{n+1}{2}} (-q; q)_{n-1}}{(q; q)_n (q; q)_{n-1}}, \tag{2.3}$$

$$(-1; q)_{\infty} \sum_{n \geq 1} \frac{(-1)^n (-q; q)_{n-1}}{(q; q)_n (q; q)_{n-1}} = \sum_{n \geq 1} \frac{(-1)^n q^{\binom{n}{2}} (-q; q)_{n-1}}{(q; q)_n (q; q)_{n-1}}. \tag{2.4}$$

Theorem 2.3. *We have*

$$\frac{(c/a; q)_{\infty}}{(c; q)_{\infty}} \sum_{n \geq 0} \frac{(c/a)^n (1-q^n)(x, a; q)_n}{(q; q)_n^2} = \sum_{n \geq 0} \frac{(-1)^n (cx/a)^n q^{\binom{n}{2}} (1-q^n)(x^{-1}, a; q)_n}{(q; q)_n^2 (c; q)_n}. \tag{2.5}$$

Corollary 2.4. *There holds*

$$\frac{1}{(c; q)_{\infty}} \sum_{n \geq 0} \frac{(-1)^n c^n q^{\binom{n}{2}} (1-q^n)(x; q)_n}{(q; q)_n^2} = \sum_{n \geq 0} \frac{(cx)^n q^{n(n-1)} (1-q^n)(x^{-1}; q)_n}{(q; q)_n^2 (c; q)_n}, \tag{2.6}$$

$$\sum_{n \geq 0} \frac{q^{\binom{n}{2}} (1-q^n)}{(q; q)_n^2 (-q^n; q)_{\infty}} = \sum_{n \geq 0} \frac{q^{n(n-1)} (1-q^n)}{(q; q)_n^2}. \tag{2.7}$$

Theorem 2.5. *We have*

$$\left(aq^{\frac{1}{2}}; q\right)_{\infty} \sum_{n \geq 0} \frac{\left(aq^{\frac{1}{2}}\right)^n (x; q)_n}{(q; q)_n} = \sum_{n \geq 0} \frac{(-1)^n (ax)^n q^{\frac{n^2}{2}}}{(q; q)_n}. \tag{2.8}$$

Theorem 2.6. *There holds*

$$\frac{(c/a; q)_{\infty}}{(c; q)_{\infty}} \sum_{n \geq 0} \frac{(c/a)^n (x, a; q)_n}{(q; q)_n} = \sum_{n \geq 0} \frac{(-1)^n (cx/a)^n q^{\binom{n}{2}} (a; q)_n}{(q, c; q)_n}. \tag{2.9}$$

Corollary 2.7. *We have*

$$\sum_{n \geq 0} \frac{(c/a)^n (aq^k; q)_n}{(q; q)_n} = \frac{(cq^k; q)_{\infty}}{(c/a; q)_{\infty}}, \tag{2.10}$$

$$\frac{1}{(c; q)_{\infty}} \sum_{n \geq 0} \frac{(-1)^n c^n q^{\binom{n}{2}} (x; q)_n}{(q; q)_n} = \sum_{n \geq 0} \frac{(cx)^n q^{n(n-1)}}{(c, q; q)_n}. \tag{2.11}$$

Remark. Setting $c = -q, x = q$ in (2.11), we derive

$$\frac{1}{(-q; q)_\infty} \sum_{n=0}^{\infty} q^{\binom{n+1}{2}} = \sum_{n \geq 0} \frac{(-1)^n q^{n^2+n}}{(q^2; q^2)_n}.$$

Furthermore, we have

$$\sum_{n=0}^{\infty} q^{\binom{n+1}{2}} = (q^2; q^2)_\infty (-q; q)_\infty.$$

Combining the above two identities, we arrive at

$$\sum_{n \geq 0} \frac{(-1)^n q^{n^2+n}}{(q^2; q^2)_n} = (q^2; q^2)_\infty.$$

The above identity is a companion to number (23) on Slater’s list [12] as follows.

$$\sum_{n \geq 0} \frac{(-1)^n q^{n^2}}{(q^2; q^2)_n} = (q; q^2)_\infty.$$

Theorem 2.8. *We have*

$$(-q^2; q^2)_\infty \sum_{n \geq 0} \frac{q^{n^2} (x; q^2)_n (xq^{2n+2}; q^4)_\infty}{(q^2; q^2)_n} = \sum_{n \geq 0} \frac{q^{\binom{n+1}{2}} (x; q^2)_n}{(q; q)_n}. \tag{2.12}$$

Corollary 2.9. *There holds*

$$(-q^2; q^2)_\infty \sum_{n \geq 0} q^{n^2} (q^{2n+4}; q^4)_\infty = \sum_{n \geq 0} q^{\binom{n+1}{2}} (-q; q)_n, \tag{2.13}$$

$$(-q^2; q^2)_\infty \sum_{n \geq 0} \frac{q^{n^2} (q; q^2)_n (q^{2n+3}; q^4)_\infty}{(q^2; q^2)_n} = \sum_{n \geq 0} \frac{q^{\binom{n+1}{2}} (q; q^2)_n}{(q; q)_n}. \tag{2.14}$$

Theorem 2.10. *We have*

$$\frac{(-aq^3; q^2)_\infty}{(bq^2; q^2)_\infty} \sum_{n \geq 0} \frac{a^n q^{n^2+n} \left(-\frac{b}{aq}; q^2\right)_n}{(q^2; q^2)_n} = \sum_{n \geq 0} \frac{a^n q^{\binom{n+2}{2}-1} \left(-\frac{b}{aq}; q^2\right)_n}{(q; q)_n (bq^2; q^2)_n}. \tag{2.15}$$

3. Proofs of Theorem 2.1 and Corollary 2.2

Proof of Theorem 2.1. Setting

$$A_n = \frac{(-1)^n q^{\frac{n}{2}} (1 - q^n) (x; q)_n}{(q; q)_n^2}, \quad U_n = \frac{q^{\frac{n^2}{2}}}{(q; q)_n},$$

$$B_n = \frac{x^n q^{\frac{n^2}{2}} (1 - q^n) (x^{-1}; q)_n}{(q; q)_n^2}, \quad D_n = (-1)^n a^n$$

and $V_n = 1$ in Lemma 1.1, we obtain

$$\begin{aligned}
 C_n &= \sum_{k=n}^{\infty} D_k U_{k-n} V_{k+n} = \sum_{k \geq 0} D_{n+k} U_k = \sum_{k \geq 0} (-a)^{n+k} \frac{q^{\frac{k^2}{2}}}{(q; q)_k} \\
 &= (-a)^n \sum_{k \geq 0} \frac{(-1)^k a^k q^{\frac{k^2}{2}}}{(q; q)_k} = (-1)^n a^n \left(aq^{\frac{1}{2}}; q \right)_{\infty},
 \end{aligned}
 \tag{3.1}$$

where the last step follows by (1.4).

Thus,

$$\begin{aligned}
 \sum_{n \geq 0} A_n C_n &= \left(aq^{\frac{1}{2}}; q \right)_{\infty} \sum_{n \geq 0} \frac{\left(aq^{\frac{1}{2}} \right)^n (1-q^n)(x; q)_n}{(q; q)_n^2} \\
 &= \sum_{n \geq 0} B_n D_n = \sum_{n \geq 0} \frac{(-1)^n (ax)^n q^{\frac{n^2}{2}} (1-q^n)(x^{-1}; q)_n}{(q; q)_n^2}.
 \end{aligned}$$

This completes the proof. \square

Proof of Corollary 2.2. Based on (1.4), we can rewrite (2.1) as follows

$$\sum_{m \geq 0} \frac{(-1)^m q^{\frac{m^2}{2}} a^m}{(q; q)_m} \sum_{k \geq 0} \frac{q^{\frac{k}{2}} (1-q^k)(x; q)_k a^k}{(q; q)_k^2} = \sum_{n \geq 0} \frac{(-1)^n x^n q^{\frac{n^2}{2}} (1-q^n)(x^{-1}; q)_n a^n}{(q; q)_n^2}.$$

Equating terms of the corresponding powers of a^n , we achieve

$$\sum_{k=0}^n \frac{(-1)^{n-k} q^{\frac{(n-k)^2}{2}}}{(q; q)_{n-k}} \cdot \frac{q^{\frac{k}{2}} (1-q^k)(x; q)_k}{(q; q)_k^2} = \frac{(-1)^n x^n q^{\frac{n^2}{2}} (1-q^n)(x^{-1}; q)_n}{(q; q)_n^2},$$

which is (2.2) by some basic simplifications. (2.3) (2.4) follow from (2.1) upon letting $a = q^{\frac{1}{2}}, x = -1$ ($a = -q^{-\frac{1}{2}}, x = -1$), respectively. \square

4. Proofs of Theorem 2.3 and Corollary 2.4

Proof of Theorem 2.3. We now apply Lemma 1.1 with

$$\begin{aligned}
 A_n &= \frac{(-1)^n q^{\frac{n^2}{2}} (1-q^n)(x; q)_n}{(q; q)_n^2}, \\
 U_n &= \frac{q^{\frac{n^2}{2}}}{(q; q)_n}, \\
 B_n &= \frac{x^n q^{\frac{n^2}{2}} (1-q^n)(x^{-1}; q)_n}{(q; q)_n^2}, \\
 D_n &= (-1)^n (c/a)^n q^{-\frac{n}{2}} \frac{(a; q)_n}{(c; q)_n},
 \end{aligned}$$

and $V_n = 1$. We compute

$$\begin{aligned}
 C_n &= \sum_{k \geq 0} \frac{(a; q)_{n+k} (-1)^{n+k} (c/a)^{n+k} q^{\frac{n+k}{2}} \cdot \frac{q^{\frac{k^2}{2}}}{(q; q)_k}}{(c; q)_{n+k}} \\
 &= (-1)^n (c/a)^n q^{\frac{n}{2}} \frac{(a; q)_n}{(c; q)_n} \sum_{k \geq 0} \frac{(aq^n; q)_k}{(cq^n, q; q)_k} (-1)^k q^{\binom{k}{2}} (c/a)^k \tag{4.1} \\
 &= (-1)^n (c/a)^n q^{\frac{n}{2}} (a; q)_n \cdot \frac{(c/a; q)_\infty}{(c; q)_\infty},
 \end{aligned}$$

where the last step follows by (1.2). Thus, we arrive at

$$\begin{aligned}
 \sum_{n \geq 0} A_n C_n &= \frac{(c/a; q)_\infty}{(c; q)_\infty} \sum_{n \geq 0} \frac{(c/a)^n (1 - q^n) (x, a; q)_n}{(q; q)_n^2} \\
 &= \sum_{n \geq 0} B_n D_n = \sum_{n \geq 0} \frac{(-1)^n (cx/a)^n q^{\binom{n}{2}} (1 - q^n) (x^{-1}, a; q)_n}{(q; q)_n^2 (c; q)_n},
 \end{aligned}$$

which completes the proof.

Proof of Corollary 2.4. (2.6) follows from (2.5) upon letting $a \rightarrow \infty$ and (2.7) follows from (2.6) by letting $x = c = -1$, which proves the desired formula.

5. Proof of Theorem 2.5

Proof of Theorem 2.5. Setting

$$A_n = \frac{(-1)^n q^{\frac{n}{2}} (x; q)_n}{(q; q)_n}, \quad U_n = \frac{q^{\frac{n^2}{2}}}{(q; q)_n}, \quad B_n = \frac{x^n q^{\frac{n^2}{2}}}{(q; q)_n}, \quad D_n = (-1)^n a^n,$$

and V_n is the constant sequences with value 1 in Lemma 1.1. Due to (3.1), we have

$$C_n = (-1)^n a^n \left(aq^{\frac{1}{2}}; q \right)_\infty.$$

Thus,

$$\begin{aligned}
 \sum_{n \geq 0} A_n C_n &= \left(aq^{\frac{1}{2}}; q \right)_\infty \sum_{n \geq 0} \frac{\left(aq^{\frac{1}{2}} \right)^n (x; q)_n}{(q; q)_n} \\
 &= \sum_{n \geq 0} B_n D_n = \sum_{n \geq 0} \frac{(-1)^n (ax)^n q^{\frac{n^2}{2}}}{(q; q)_n},
 \end{aligned}$$

which is (2.8). \square

Notice that we use (1.4) to express the left-hand side of (2.8)

$$\sum_{k \geq 0} \frac{(-1)^k q^{\frac{k^2}{2}} a^k}{(q; q)_k} \sum_{m \geq 0} \frac{q^{\frac{m}{2}} (x; q)_m a^m}{(q; q)_m} = \sum_{n \geq 0} \frac{(-1)^n x^n q^{\frac{n^2}{2}} a^n}{(q; q)_n}. \tag{5.1}$$

Now we equate the terms corresponding to a^n in (5.1) to obtain

$$\sum_{k=0}^n \frac{(-1)^{n-k} q^{\frac{(n-k)^2}{2}}}{(q; q)_{n-k}} \cdot \frac{q^{\frac{k}{2}} (x; q)_k}{(q; q)_k} = \frac{(-1)^n x^n q^{\frac{n^2}{2}}}{(q; q)_n},$$

which gives the following identity after straightforward simplifications.

$$x^n = \sum_{k=0}^n (-1)^k q^{\binom{k+1}{2} - nk} (x; q)_k \begin{bmatrix} n \\ k \end{bmatrix}.$$

The above identity appears in ([4], p. 157).

6. Proofs of Theorem 2.6 and Corollary 2.7

Proof of Theorem 2.6. We apply Lemma 1.1 with

$$A_n = \frac{(-1)^n q^{\frac{n}{2}} (x; q)_n}{(q; q)_n}, \quad U_n = \frac{q^{\frac{n^2}{2}}}{(q; q)_n}, \quad B_n = \frac{x^n q^{\frac{n^2}{2}}}{(q; q)_n},$$

$$D_n = (-1)^n (c/a)^n q^{\frac{n}{2}} \frac{(a; q)_n}{(c; q)_n},$$

and V_n is the constant sequences with value 1. Then due to (4.1), we get

$$C_n = (-1)^n (c/a)^n q^{\frac{n}{2}} (a; q)_n \cdot \frac{(c/a; q)_\infty}{(c; q)_\infty}.$$

Thus,

$$\sum_{n \geq 0} A_n C_n = \frac{(c/a; q)_\infty}{(c; q)_\infty} \sum_{n \geq 0} \frac{(c/a)^n (a; q)_n}{(q; q)_n} = \sum_{n \geq 0} B_n D_n = \frac{(-1)^n (cx/a)^n q^{\binom{n}{2}} (a; q)_n}{(q, c; q)_n},$$

which yields the desired formula. \square

Proof of Corollary 2.7. To prove (2.10), we first use (1.6) to express the left-hand side of (2.9) as powers series in x . Then

$$\begin{aligned} \text{L. H. S. of (2.9)} &= \frac{(c/a; q)_\infty}{(c; q)_\infty} \sum_{n \geq 0} \frac{(c/a)^n (a; q)_n}{(q; q)_n} \sum_{k=0}^n (-1)^k q^{\binom{k}{2}} \begin{bmatrix} n \\ k \end{bmatrix} x^k \\ &= \frac{(c/a; q)_\infty}{(c; q)_\infty} \sum_{k \geq 0} \frac{(-1)^k q^{\binom{k}{2}} x^k}{(q; q)_k} \sum_{n=k}^{\infty} \frac{(c/a)^n (a; q)_n}{(q; q)_{n-k}} \\ &= \frac{(c/a; q)_\infty}{(c; q)_\infty} \sum_{k \geq 0} \frac{(-1)^k q^{\binom{k}{2}} x^k}{(q; q)_k} \sum_{n=0}^{\infty} \frac{(c/a)^{n+k} (a; q)_{n+k}}{(q; q)_n} \\ &= \frac{(c/a; q)_\infty}{(c; q)_\infty} \sum_{k \geq 0} \left(\sum_{n \geq 0} \frac{(-1)^k q^{\binom{k}{2}} (c/a)^{n+k} (a; q)_{n+k}}{(q; q)_k (q; q)_n} \right) x^k. \end{aligned}$$

Now equate the terms corresponding to x^k in (2.9) to obtain

$$\sum_{n \geq 0} \frac{(-1)^k q^{\binom{k}{2}} (c/a)^{n+k} (a; q)_{n+k}}{(q; q)_k (q; q)_n} = \frac{(c; q)_\infty}{(c/a; q)_\infty} \cdot \frac{(-1)^k (c/a)^k q^{\binom{k}{2}} (a; q)_k}{(c; q)_k},$$

which by some basic calculations down to (2.10). (2.11) follows easily from (2.9)

upon letting $a \rightarrow \infty$.

7. Proofs of Theorem 2.8 and Corollary 2.9

Proof of Theorem 2.8. Let us use Lemma 1.1 with a Bailey transform as follows:

$$A_n = \frac{q^{n^2+n}}{(q^2; q^2)_n}, U_n = \frac{q^{n^2+2n}}{(q^2; q^2)_n}, B_n = \frac{q^{\binom{n+2}{2}-1}}{(q; q)_n}, D_n = q^{-n} (x; q^2)_n, V_n = 1.$$

We compute

$$\begin{aligned} C_n &= \sum_{k \geq 0} q^{-n-k} (x; q^2)_{n+k} \cdot \frac{q^{k^2+2k}}{(q^2; q^2)_k} \\ &= q^{-n} (x; q^2)_n \sum_{k \geq 0} \frac{q^{k(k+1)}}{(xq^{2n}; q^2)_k} (q^2; q^2)_k \\ &= q^{-n} (x; q^2)_n (-q^2; q^2)_\infty (xq^{2n+2}; q^4)_\infty, \end{aligned}$$

where in the last step, we used the (1.7) with $q \rightarrow q^2, x \rightarrow xq^{2n}$. Then by virtue of Lemma 1.1, we get

$$\begin{aligned} \sum_{n \geq 0} A_n C_n &= (-q^2; q^2)_\infty \sum_{n \geq 0} \frac{q^{n^2} (x; q^2)_n (xq^{2n+2}; q^4)_\infty}{(q^2; q^2)_n} \\ &= \sum_{n \geq 0} B_n D_n = \sum_{n \geq 0} \frac{q^{\binom{n+1}{2}} (x; q^2)_n}{(q; q)_n}, \end{aligned}$$

which completes the proof.

Proof of Corollary 2.9. (2.13) and (2.14) follow from (2.12) by letting, respectively, $x = q^2$ and $x = q$.

8. Proof of Theorem 2.10

Proof of Theorem 2.10. Let us use Lemma 1.1 with a Bailey transform as follows:

$$A_n = \frac{q^{n^2+n}}{(q^2; q^2)_n}, U_n = \frac{q^{n^2+2n}}{(q^2; q^2)_n}, B_n = \frac{q^{\binom{n+2}{2}-1}}{(q; q)_n}, D_n = \frac{a^n \left(-\frac{b}{aq}; q^2 \right)_n}{(bq^2; q^2)_n}, V_n = 1.$$

We compute

$$\begin{aligned} C_n &= \sum_{k \geq 0} \frac{a^{n+k} \left(-\frac{b}{aq}; q^2 \right)_{n+k}}{(bq^2; q^2)_{n+k}} \cdot \frac{q^{k^2+2k}}{(q^2; q^2)_k} \\ &= \frac{a^n \left(-\frac{b}{aq}; q^2 \right)_n}{(bq^2; q^2)_n} \sum_{k \geq 0} \frac{a^k q^{k^2+2k} (-bq^{2n+1}/a; q^2)_k}{(q^2; q^2)_k (bq^{2n+2}; q^2)_k} \\ &= a^n \left(-\frac{b}{aq}; q^2 \right)_n \frac{(-aq^3; q^2)_\infty}{(bq^2; q^2)_\infty}, \end{aligned}$$

where in the last step, we used (1.8) by letting $a = aq, b = bq^{2n}$. Then by virtue of Lemma 1.1, we get

$$\begin{aligned} \sum_{n \geq 0} A_n C_n &= \frac{(-aq^3; q^2)_\infty}{(bq^2; q^2)_\infty} \sum_{n \geq 0} \frac{a^n q^{n^2+n} \left(-\frac{b}{aq}; q^2\right)_n}{(q^2; q^2)_n} \\ &= \sum_{n \geq 0} B_n D_n = \sum_{n \geq 0} \frac{a^n q^{\binom{n+2}{2}-1} \left(-\frac{b}{aq}; q^2\right)_n}{(q; q)_n (bq^2; q^2)_n}, \end{aligned}$$

which completes the proof.

9. Conclusion

By choosing some sequences, we can derive many identities from the Bailey transform. Furthermore, we should study the generalized Bailey transform [14] deeply to establish the multiple parameterized identities. On the other hand, we can also study the mock theta functions or the Rogers-Ramanujan identities through the Bailey transform.

Conflicts of Interest

The authors declare no conflicts of interest regarding the publication of this paper.

References

- [1] Gasper, G. and Rahman, M. (2004) Basic Hypergeometric Series. Cambridge University Press, Cambridge. <https://doi.org/10.1017/CBO9780511526251>
- [2] Bressoud, D.M. (1981) Some Identities for Terminating q -Series. *Mathematical Proceedings of the Cambridge Philosophical Society*, **81**, 211-223. <https://doi.org/10.1017/S0305004100058114>
- [3] Ramanujan, S. (1957) Notebooks of Srinivasa Ramanujan. Vol 2, TIFR, Springer, Berlin. https://doi.org/10.1007/978-3-662-30224-8_1
- [4] Bailey, W.N. (1947) Some Identities in Combinatory Analysis. *Proceedings of the London Mathematical Society*, **49**, 421-435. <https://doi.org/10.1112/plms/s2-49.6.421>
- [5] Slater, L.J. (1966) Generalized Hypergeometric Functions. Cambridge University Press, Cambridge.
- [6] Andrews, G.E. (1984) Multiple Series Rogers-Ramanujan Type Identities. *Pacific Journal of Mathematics*, **114**, 267-283. <https://doi.org/10.2140/pjm.1984.114.267>
- [7] Kim, B. and Lovejoy, J. (2018) Ramanujan-Type Partial Theta Identities and Conjugate Bailey Pairs, II. Multisums. *The Ramanujan Journal*, **46**, 743-764. <https://doi.org/10.1007/s11139-017-9919-0>
- [8] Lovejoy, J. (2012) Ramanujan-Type Partial Theta Identities and Conjugate Bailey Pairs. *The Ramanujan Journal*, **29**, 51-67. <https://doi.org/10.1007/s11139-011-9356-4>
- [9] Andrews, G.E. and Warnaar, O. (2007) The Bailey Transform and False Theta Functions. *The Ramanujan Journal*, **14**, 173-188.

-
- <https://doi.org/10.1007/s11139-006-9006-4>
- [10] Bailey, W.N. (1949) Identities of the Rogers-Ramanujan Type. *Proceedings of the London Mathematical Society*, **50**, 1-10. <https://doi.org/10.1112/plms/s2-50.1.1>
- [11] Slater, L.J. (1951) A New Proof of Rogers' Transformations of Infinite Series. *Proceedings of the London Mathematical Society*, **53**, 460-475. <https://doi.org/10.1112/plms/s2-53.6.460>
- [12] Slater, L.J. (1952) Further Identities of the Rogers-Ramanujan Type. *Proceedings of the London Mathematical Society*, **54**, 147-167. <https://doi.org/10.1112/plms/s2-54.2.147>
- [13] Ji, Q. and Zhao, X.H. (2015) The Bailey Transform and Hecke-Rogers Identities for the Universal Mock Theta Functions. *Advances in Applied Mathematics*, **65**, 65-86. <https://doi.org/10.1016/j.aam.2015.02.001>
- [14] Bachraoui, M.E. (2021) Some New q -Series Identities through an Extended Bailey Transform. *The Ramanujan Journal*, **58**, 747-769. <https://doi.org/10.1007/s11139-021-00455-2>